
Time: 10 Minutes Paper Math 4 Total Marks: 10

5th Month, 2nd Week, 6th Day Unit 5, Exercise 4, 5, Revision

Q.No.1 Encircle the correct answer from the following choices. (5)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

i. 90  = _______ m  .

(a) 90 (b) 900 (c) 9000 (d) 90000

ii. The capacity of an oil tanker is 98 in milliliters it will be:

{{{{ììììXXXXttttBBBBßßßßiiii~~~~ƒƒƒƒÏÏÏÏ:::: 98 ZZZZqqqq----%%%%ÆÆÆÆ----ÅÅÅÅRRRRöööö

(a) 98 (b) 980 (c) 9800 (d) 98000

iii. A fish jar has 20  water and other jar has 18 . How much more water

is in first jar? (in millilitres).

ßßßß0000****ããããììììXXXX¬¬¬¬YYYYgggg~~~~HHHHiiiicccc****ŠŠŠŠ{{{{0000****ããããìììì))))BBBBßßßßiiii~~~~(((( 18 ±±±±0000****ããããììììZZZZzzzzggggŠŠŠŠzzzzuuuu}}}}YYYYgggg~~~~ 20 ŠŠŠŠVVVVÆÆÆÆZZZZqqqq----YYYYgggg~~~~

(a) 1000 (b) 2000 (c) 3000 (d) 4000

iv. There are ______ metre in one kilometre. ¢¢¢¢aaaaƒƒƒƒDDDD÷÷÷÷XXXX _______ ZZZZqqqq----³³³³¢¢¢¢aaaa~~~~

(a) 10 (b) 100 (c) 1000 (d) 10000

v. One litre is equal to _____ centimetres. vvvv¢¢¢¢aaaaXXXX ________ = ZZZZqqqq----¢¢¢¢aaaa

(a) 1000 (b) 10 (c) 1 (d) 100

Q.No.1. Solve: (5) iiii™™™™,,,,::::  ::::1 ÎÎÎÎZZZZwwww����

34  200 m   – + 92  

Q.No.2.The capacity of a bucket is 87  and a tub is 112  456m . What is

the total capacity in millilitres?

BBBBßßßßììììXXXXBBBBßßßßiiii~~~~ÀÀÀÀRRRRöööö¥¥¥¥xxxx™™™™,,,,XXXX 456 ßßßßÔÔÔÔ 112 ßßßßììììZZZZzzzzggggOOOO$$$$ÅÅÅÅRRRRöööö 86 ::::ZZZZqqqq----!!!!****yyyyÅÅÅÅRRRRöööö 2 ÎÎÎÎZZZZwwww����
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